
 1B, 1C, 1D, 2A, 2D, 3A, 3B, 3D  
 

10. TEST    Vyberte správné odpovědi.  Odpovědi najdete na konci stránky. 

 

1) Pro funkci 284 3 ++= xxy  platí: 

a) xxy 812 2 +=  

b) 812 2 += xy  

c) ( ) 201 =y  

d) xy 24=  

 

 

2) Pro derivovanou funkci 7ln7
1

1620 4 x

x
xy ++−=  platí: 

a) xxxxy 7ln164 5 ++−=  

b) xxexxy 7164 5 ++−=  

c) xxxxy cosln164 5 ++−=  

d) 57ln164 5 +++−= xxxxy  

 

 

3) Pro funkci xy ln= platí: 

a)  
x

y
1

=  

b) 
2

1

x
y −=  

c) 
2

1

x
y =  

d) 
3

2

x
y =  

 

 

 

 


